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Note : Candidates are required to give their answers in their
answers in their own words as far as particable. Attempt
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Question No.1 is compulsory.

/

"'gi 1.”/ Choose the correct answer from the following :
(1) A program in execution is called :
(a) Apage
\(/b} A process
(c)  Virtual memory

(d)  Demand page
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(ii) Which is not application Software ?
\V Windows NT
Page Maker
(c) Winword XP
(d) Outlook Express
(i)  Operating System is a collection of :
L/a _—— Software routines
(b) Input-output devices:
(c) Hardware compoﬁents

J\d) All of the above

(ivy  The list command lists records on

Screen.
(@ 10
((b')' All
(c) 100

(d)  Onlytop 50

4008-02/2020 (2)

—_—



v)

(vi)

(vii)
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Multiprogramming of Computer System

increases :

(@) Memory

(b) Storage

{c) CPU utilization

(d) Cost of processing

To add more records at the end of any database

file, use the command

(a) ADD
b)  APPEND
(c)  JOIN
(d) © LISTALL

When does Page fault occur ?
(a) The page is present in memory

(b) The deadlock occurs

.'/

() The page does not present in memory

(d) The buffering occurs

(3) - [PTO]
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(vii)  What is the fence register used for ?
(a)  Todisk protection
_(b)  ToCPU utilization
)" To memory protection C f
(d)  None of these

(ix)  Which of the following is a condition that causes

deadlock ?

(a) Mutual exclusion

(b) Circular wait

(c) No preemption
_Ad) ~ Allofthe above

(x) Who among the following can create a new - ‘

P Y
friemn)

process ?
‘/’(aj/' Fork

(b)  Read

() Kil

(d)  Down
4008-02/2020 | (4)
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\2/~ What is Operating System ? What are the various

objectives and functions of operating system ?

Discuss Process Management. Also discuss the

life-cycle of a process.

Explain the following FoxPro commands :

- ,(a/) 'V Pack
Ab) Browse
/(c)' Modify structure |
Ld) DEL |
/(e) ZAP
R Briefly explain and compare Fixed and dynamic memory

partitioning schemes.

6. What is Disk Scheduling ? Discuss disk scheduling
algorithms : SCAN, CSCAN, FCFS, CLOOK.

. Consider the following processes, with the length of the

4008-02/2020
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CPU burst time given in milliseconds :

Process. Burst time
P1 10
P2 29 &
| P3 -3
S P4 7
P5 - 12
Consider the FCFS, SJF, Round Robin (quantum 10ms)
Scheduling algorithms. lllustrate the scheduling, using
Gantt chart.
8. What do you mean by Ma-cro’? How can you create and |

use a Macro in FoxPro?

0. What is Disk Allocation method in OS ? Expldi

contiguous and Non-contiguous disk allocation methods.

10.  'Explain the basic concept of segmentation in detail. Also

discuss address mapping in segmented system.

4008-02/2020 L(6)
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Note : Attempt any five questions in all. All the questions are of

equal value. Question No.1 is compulsory.
1/ Write short notes on the following terms/keywords :
(@ CPU
(b) | Dot-Matrix printer
(c':)‘ | SASD
(d) =~ ROM

(e) Magnetic Tapes

- 4008-01/2020 (1) [P.T.O.]
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What is Computer ? Discuss computer

and human brain.

Describe Input and output units of

computer with suitable examples.

What is DOS ? Write any ten(10)

commands of DOS.

What is the difference between mini and

mainframe computer ?

Convert F18, 367, E5.15 and 3A.2B
hexadecimal 'numbers into decimal

number.

Add the following binary numbers :
101011, 111011

1001, 1001, 1101

1110, 0110, 10111

11011, 01001

What is the difference between Machine

and Assembly language ?

(2)
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(b)

(b)

(a)

(b) -
(2)

(b)

What is EBCDIG code ? Discuss with

suitable example.

What do you ynderstand by Uniprocessor

and Multiprocessor ?

Discuss architecture of 8088

microprocessor.

Describe the functionality of the Laser

printer.

What is difference between volatile and

non-volatile memory ?

Describe the fourth generation computer
based on the hardware, software and

characteristics.

Discuss super computer with suitable

example. -

What is e-mail ? Write advantages of

e-mail.

What is Program ? Write characteristics

of good program.

(3) | [P.T.0.]



10. (a) + What do you understand by online

process and real time processing ?

(b) What is Compiler ? Write the function of

compiler.

____x____

4008-01/2020 (4)
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Which figure of speech is ysed in the

' sentence, "The leaves danced in the
wind" ?
(A)  Idiom
(B)  Hyperbole
(©)  Personification
(0)  Metaphor
2. Two figures of speech that involve
comparison are :
(A}~ Simile and Metaphor
f(B) Idiom and Phrases
(@) Hyperbole and Simile
(D) Alliteration and Metaphor
3. The words "like" and "as" typically appears
ina:
(A) Metaphor
(B)— Simile
(©) Hyperbole
() Idiom
4, The line, "If winter comes, can spring be far
behind" occurs in :
AA)Y Ode to the West Wind
B8) To Skylark
(C)  To Night
(D) The Cloud
5. Whatis the penalty for Portia's suitors if they
guess the wrong casket ?
(A) They must exile themselves
(B)  They must apologize
&~ Death
(©)  They must never marry
2407-01-B/850

(3)

10.

Who is the first suitor that actually chooses
a casket ?

(A) Bassanio

(B) Antonio

(©) The Prince of Morocco

(D) The Duke of Burgundy

Why does Launcelot want to leave his master
Shylock ?

(A) Shylock pays badly

(B) Shylock has abused him

€) Shylock is Jewish

(D) Shylock is annoying

Who does Launcelot want to work for instead
of Shylock ?

Bassanio
(B) Antonio
(C) Gratiano
(D) Portia

What does Shylock's daughter Jessica give
Launcelot when he leaves ?

(A)- Herring
(B) A letter
(C) Keys to Shylock's safe
(D) A map

When Shylock talks to Jessica about
Launcelot, how does she describe
Launcelot ?

(A) A terrible person

(B) A fine servant

(€) Untrustworthy

(D)/Kind but lazy

[PT.O.]
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1.

12,

13.

14.

15.

Who presides over Antonio's trial ? 16.
(A)  The Prince of Morocco
(B)  Portia
/(C)/ The Duke of Venice
(D)  Antonio
What sort of character is Portia ? 7
(A) Quick-witted and beautiful
(B) A free spirit
© A rule follower
D7 Allof the above
To whom does the title "The Merchant of
Venice" refer to ? 18.
(A) Shylock
(B) Bassanio
€ Portia
‘/(D)/’ Antonio
What was the name of Tennyson's friend who
died ? 19.
(A) Thomas Kyd
_(B)/ Arthur Henry Hallam
(C) George Garber
(D) Arthur Thomson
Why Tennyson was sitting on the a5
sea-shore ?
(A) To relax
(B) To see the beauty of nature
/(QY " To come out from sorrow
(D) None of the above
2447-01-B/850 (4)
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What is the color of the stones in "Break,

Break, Break" ?

(A)  Black
JB)/ Gray

(C) Brown

()  White

The speaker of "Break, Break, Break"
cannot :

(A) Feel

(B) Hear

(C)  See

Speak

What is the mood of speaker in "Break,
Break, Break" ?

(A) Contemplative and hopeful

{8y~ Sombre and grieved

(C) Energized

(D)  Light-hearted

Who is the most-quoted poet after
Shakespeare ?

(A)  William Wordsworth

(B)  T.S. Eliot

) Alexander Pope

(D) John Keats

(<)

What is the name of George Herbert's
collection of poems ?

(A “The Temple
(B)  The Church
(C

) The Mosque
D) Prayer to God



21.

22.

23.

24,

25.

2407-01-B/850

/\

What does Bassanio beg the court to do for
Antonio’s sake ?
(A) Kill Shylock

Give Shylock money

] () Take Shylock's knife

(D)  Bend the rules

Portia says that Shylock can take his pound
of flesh from Antonio but he must not :

(A)  Be too slow |

(B)  Laugh about it

/(Q)/ Spill any blood

(D) Be boastful

What will the state seize if Shylock spills a
drop of blood while extracting the pound of
flesh ?

,»(AY His entire estate
1B)  His knife

(o) His daughter

(D) His Venetian citizenship

Antonio offers to return half of Shylock's
estate on the condition Shylock :

(A) Apologizes

(B) Duels with him

(C) Give him a loan

@ Converts to christianity

What tokens does Portia ask from Antonio

and Bassanio ?

(oY~ Gloves and a ring

(B) Boots and a ring
(C) - Diamonds and rubies

D) A letter of thanks

~——

(5)

26.

21.

28.

29.

30.

What does Antonio offer as bond against
any future infidelity by Gratiano or

Bassanio ?

(A) His soul
(B) His estate
(C)  His flesh

(D) A chest of gold
What fortuitous events happen to Antonio at
the end of the play ?
(A) Shylock dies

B
(C) His ships come in
(D) He becomes a duke
Who has written "Discovery of India" ?
(A) Mahatma Gandhi

J@),
(€ R.K. Narayan
D) Rabindra Nath Tagore
The essay "The Aim of Life" is written by
Jawaharlal Nehru during his imprisonment

He marries Portia

(

Jawaharlal Nehru

in: _

(A) Ahmednagar Fort
(B) Red Fort

(€) Agra Fort

D) None of the above
"A living philosophy must answer the
problems of today", who said this ?
(A) E.M. Forster
_(By— J.L Nehru
(€ H.G. Wells
(0) Oscar Wilde

[PT.O.]
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31

32,

34.

35.

2407-01-B/850

In order to marry Portia, suitor must choose
one of the three caskets. What is the comect
casket made of ?

(A) Bone
(B} - Lead

(9} Gold

D) Silver

What does Portia give Bassanio as a token
of her love ?

(A) The Lead Casket

(B) Aloan
@),_ " ARing

D) A Law book

What does Shylock demand that Antonio
pledge as bond for the loan ?

(A) His death

B)—

¢

(®) His estates

A pound of flesh

D) Portia's hand in marriage

Who is the cleverest character in "The

Merchant of Venice" ?

(A) Shylock

(B) Antonio

(C)  Jessica

_y" Portia

What is the theme of "Ode to a Nightingale " ?
[A) Morality

(B)  Trth

(C)  Realiy

(0)  Spirtuality

e — e —

(6)

(5]
~J

38.

39.

40.

"Ode to a Nightingale" focuses on :

(A" How pleasures are fleeting and ife

¢

cannot continue forever
(B)  The fall of man into sin
(C)  The futility of artistic creation

(D) None of the above

Who referred to poets as "the
unacknowledged legislators of the world" ?
(A)  Lord Byron

(B)  William Blake

(€)  William Hazlitt

D) PB. Shelley
Which sonnet form does Keats use ?
(A) ltalian form

(B) French form
C)l— English form

///

(D) None of the above

Who said, "A thing of beauty is a joy
forever" ?

(A)  PB. Shelley

(B)  John Keats

(C)  G.B. Byron

O)  William Wordsworth

How does Gratiano behave towards
Shylock ?

(A)  Friendly
J(E)/ “Insulting and critical
(C)  Politely

(D)  Submissive



4.

42,

43.

44.

2407-01-B/850

Which of Portia's caskets bears the
inscription "Who chooseth me myst give and
hazard all he hath" ?

A)  The Gold Casket
(B) The Silver Casket
C) The Lead Casket
D) All three Caskets

What is inside the gold casket which the
prince of Morocco opens ?

(A)  Anportrait of Portia
(B) A skull with a scroll
(@) A fool's portrait

(D) A chocolate bar

What cheers up Shylock after hearing of his
daughter's theft ?

(A) Bassanio's financial ruin

(B) News of Jessica's marriage
(C)  Tubal tells a joke

(D) Antonio's financial ruin

What piece of bad news interrupts the

celebrations at Belmont ?
(A)  The outbreak of war

(B)  Shylock's arrival
(C)  Gratiano and  Nerissa's

engagement

(D)  Antonio's bankruptcy

(7)

45.

46.

47.

48.

What animal does Shylock remember

Antonio comparing him to ?

(A)  AHind
B) A Woolf
(C)  ADog

(D) A Sheep

How does Antonio plan to respond to
Shylock's insistence to collect his pound of

flesh ?

(A) With anger and violence
(B) With begging

(€) With reasoning

(D) With quietness of spirit

What explanation does Shylock give for
continuing to pursue his bond ?

(A) To scare people
(B) It amuses him
(C) He hates Antonio
D) For the attention

What does Bassanio offer Shylock to
persuade him to forfeit his bond ?

(A)  Six thousand ducats
(B)  Three thousand ducats
(€ Nothing

(D)  Portia's ring

[P.T.0.]



49.

50.

51.

52.

53.

2407-01-B/850
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Why does Bassanio need a loan ?

(A) Court an heiress

._(B)/To buy a house

©) To purchase a ship
D) To go to university

How much money does Shylock offer to lend
Bassanio ?

(A) Eight Thousand ducats

_{B}——Three Thousand ducats

(C) Three Hundred ducats

©) Nothing

George Herbert's poem "Love" is written
in:

(A) Heroic couplet

- Dialogue form

(9] Blank verse
(o)

What is the theme of the poem "Love" ?

) Free verse

ﬁ/Difference between divine and

mortal love
(B)  Difference between good and evil
(C) Encounter with God
(D) None of the above
G.M. Hopkins, "Ged's Grandeur" is a :
(A)  Lyric

y, Sonnet

(C)  Elegy
D) Ode

54.

55.

58,

57.

58.

(8)

LG4
©

By faith Alexander Pope was -

(A Roman Catholic

®)  Protestant

(€ Both () ang (B)

O)  None of the above

In the first stanza of the poem, "On his
Blindness", what is the concemn of the
poet ?

(A} His writing

By~ His blindness

(C)  His desire to serve God
D)  All of the above

How many stanzas are there in the poem,
"On His Blindness" ?

/w/ 2

® 3

5

In "On His Blindness", Milton compares the

angels with those who have the talent and
uses it to serve God :

_(AY— True

(B) False
(C)  Can'tsay
(D)  Partially true

With whom Shylock's daughter, Jessica
plans to elope ?

(A)  Antonio
(B)  Bassanio
(C)  Portia

(0)  Lorenzo

—



59, "poetry is the spontaneoys overflow of | 64.
powerful feelings”, who said thig 7
Milton
/@/Wordsworth
Coleridge @5)
(D)  Keats
60.  Adam and Eve are characters in ;
(A}~ Paradise Lost
e
(B)  Lycidas
(C)  Tintern Abbey 66.
(D) Comus
61. Which of these characters appear in
Shakespeare's "The Merchant of Venice" ?
(A) Lydia 67.
_(B}—" Portia
(@) Desdemona
(D)  Cleopatra
62.  Wordsworth was the poet of : 6.
(A) Love
(B) Romance
_(C)—Sadness
(0) Nature
63.  "The Selfish Giant"is a 0.
AR Short-story
B)  Poem
©  Novel
O  Essay

2407-01-B/850 (9)

"The Child is the father of Man" said by :

(A) Browning
(B) Dryden

(®) Wordsworth
D) Pope

At what age Milton became blind ?

JL

(B) 55
c 38
b s

Rabindra Nath Tagore wrote :

(A)

(B)
Short-stories

€
/)/' All of the above

akespeare was born in which city/town ?

C
D)
Which of these plays are written by William
Shakespeare ?

e

Poems

Drama

A) England
(B) America
) Stratford-upon-Avon

Ireland

The Merchant of Venice

(B) Doctor Faustus
(C) The Alchemist
D) The Cenci
How many times did Milton marry ?
(A)  Twotimes
By~ Three times
(@) Only once
D) Never

[P.T.0.]
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74.
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"A little learning is a dangerous thing", who
said this ?

(A) P.B. Shelley

(B) John Keats
(C)— Alexander Pope
D) John Dryden

-~

W.H. Auden is a ___ poet,
) Victorian
B) Elizabethan
) Modern
D) Romantic

Who has written the poem, "A Slumber did
my Spirit Seal" ?

((A)f William Wordsworth
(B) G.B. Byron

(C) William Blake

D) T.S. Eliot

What does Lucy move with ?
(A) Rocks

(B) Stones

©) Trees

By~ All of the above

Who is "She" in the poem, "A Slumber did
my Spirit Seal" ?
1By

(B) The poet's daughter

The poet's wife

(€) An imaginary child named Lucy
(D) None of the above

75

76.

7.

78.

79.

(10)

-
-

What scaled the poet's spirit ?

(A Ajoke
B Avictory
€ Aprize

A slumber
What does "Slumber" mean in the poem ?

A déep sleep in the form of death
of the poet's beloved lady

(B)  Sleep
(C)  Deep sleep
(©)  None of the above

How many plays are generally attributed to
Shakespeare ?

_yar

B) 27

C) 47

O) 30

What was Shakespeare's father's
profession ?

(A) Actor

(€) Carriage-driver

Farmer
The play " The Merchant of Venice" contains

Shakespeare's first great ___ hero.

(A)/  African
/
) Female
©  Jewish

D) Immigrant



80. The essayist Robert Lynd belongs to : 8.
(A)  Africa
() Ireland
(C) Russia
/(Q)/' England
81.  "Onbeingabore"isa __essay, 86.
(A)  Humorous
(B)  Critical
(®) Religious
D) Conversational
82. Absentmindedness is sometimes called : g7,
(A)  Virue
ABy™ Vice
(C)  Remedy
D) None of the above
83.  ‘India Again" is written by : 88.
(A) W.H. Auden
ABY™ EM. Forster
C) H.G. Wells
(D) Oscar Wilde
84.  Wordsworth was popularly known as the 89
poet of : '
(A)  Lake District
(B)  Lancashire Region
(C)  Wessex Region
)D),- None of the above
2407-01-B/850 (11)

Who accused Wordsworth of being "a lost

leader" ?

(A) Byron
(B) Shelley
_(Gy™ Browning
D) Keats
Which of these novels is written by E.M.
Forster ?
(A) A Passage to India

(B) Home and the World
(@) Untouchable
/(D)/ Waiting for Mahatma

"Nature never did betray, the heart that loved

her", who said this ?
(A) Coleridge
(B) Keats

/(@)/‘ Wordsworth
(D) Southey

What was the name of Wordsworth's
sister ?

)A)/ Dorothy
(B)

Lucy
(&) Jink
(D) Nim

The name of Rabindra Nath Tagore's Nobel-
Prize winning book is :

(A) Gora
4B Gitanjali
© Kabuliwala
D) None of the above

[P.T.0.]
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What was the cause of the death of Keats at
such an early age ?

Disease of consumption

(B) Frustration in love

(©) Adverse criticism of his poetry

D) Drowning

The predominant theme of H.G. Well's "The
Country of the Blind" is :

(A) Crime and punishment

Isolation, disability and blindness
(C) Ambition and aspiration

(D) Slavery

What kind of poems did Keats write the
most ?

(A) Ode
—

(B) Play

(C) Drama

D) None of the above

Escapism can be noticed in Keats' work :
(A)  Ode to Duty

(B) Ode on a Grecian Urn

/(e)/ Ode to a Nightingale

D) Hyperion
During which decade did Tagore write most
of his short-stories ?

(&) 1900's
B) 1870
© 1920

1890's

95.

96.

97.

98.

99.

(12)

B}

Shelley's death was caused by :

%Ar)/ Drowning

(B)  Consumption

©  Fighting

©)  Poisoning

Who is "destroyer and preserver" ?

(A)  The beloved

The west wind

(C)  Revolution

0) . God

When "The Country of the Blind" was first
published ?

A) 1920
(81— 1904
€ 1918
0) 1890

Which historical movement inspired Shelley
to write "Ode to the West Wind" ?

(A) French Revolution

(B) American Revolution
(C) The Battle of Waterloo
D) The War of Roses

Who called Shelley "An ineffectual angel

beating in the void hig luminous wings in
vain' ?

(A) John Ruskin
(B)  Charles Lamb
C)  Matthew Amold
(D) William Hazlitt



100.

101.

102,

103.

104,

2407-01-B/850

George Herbert was a :

(A) Romantic poet

(B) Modern poet
Metaphysical poet

D) Victorian poet

Today Herbert's poetry is useq as

(A) Lyrics

p}/‘ Elegy
(C) Hymns and Songs
(D)  Ode

Why does Bassanio seek to marry Portia in
the first place ?

/ He loves her

(B)  He needs her money
(C)  He needs a wife

(8) To resolve political issues

What does cross-dressing allow Portia to
do ?

(A) Provide comic relief

(B) Seduce Bassanio

(C) Trick her friends

Mssume power and position

According to Portia, what is the character
fault of the English suitor who came to guess
the correct casket ?

y Poor language skill
(B)  Drunkenness
(C)  Obsession with horses

©)  Over-serious

105.

106.

107.

108.

109.

(13)

What did each of Portia's suitors do before
leaving ?

(A) Opened the casket

8) Had dinner with Portia

{6y~ Refused to choose casket

(D) Choose the wrong casket

In an aside, what does Shylock confess ?

}A)/ He hates Antonio

(B) He hates his daughter
(®) He hates Bassanio

(D)  He hates Venice

How does Bassanio.feel about the
arrangement and the condition of the loan 7
(A) Grateful
(B) Indifferent
AGy Suspicious
O Angry
Which figure of speech is used when a
statement is exaggerated in a poem ?
(A)  Alliteration
By~ Metonymy
(C) Hyperbole
D) Onomatopoeia
Which figure of speech is used in the
sentence, "Life is like a box of chocolate" ?
(A) Simile
(BY"  Metaphor
(€) Paradox
(D) Personification
[PT.O.]



- M0 In"The Country of the Blind", Nunezisa: 116
(A) Cricketer
4By Mountaineer
€) Wrestler
D) Actor
111. Who is the master of Nunez ?
(A) Medina 17.
(B) Lydia
L(/CVYacob
(D) Michael
12 Who is the writer of "The Postmaster" ?
(A) J.L. Nehru
/(B}/ R.N. Tagore 118.
(C) R.K. Narayan
D) M.K. Gandhi
13.  What s the postmaster's main hobby ?
(A) Fishing
(B) Writing songs
© Birdwatching "o
By~ Writing poetry
114, H.G. Wells' "The Country of the Blind" is a :
(A) Novel
(B) Drama
(C)— Short-story
D) Poetry
115.  What is the name of the orphan girl in "The 120,
Postmaster" ?
(A) Tara
_{B” Ratan
(0] Sita
D) Radha
2407-01-B/850 (14)

Who is the author of the poem "On His

Blindness" ?
(A} John Milton
(B)  John Smith
(C)  Emily Dickinson
(D)  John Keats
In what language did Rabindra Nath Tagore
write ?
(A) Hindi
/(B-)/ Bengali
(o) Arabic
(D) Tamil
In which form the poem, "On His Blindness"
is written ?
JA)/Sonnet
(B) Lyric
(C)  Ode
D) Elegy
Who said about himself ?
"My name is writ in water".
(A)  John Milton
(B)  PB. Shelley
(©  John Keats
0)  George Herbert
The postmaster is assigned to work in which
village ?
(A~ Rampur
(B)  Ulapur
(€©)  Raipur
O)  Raigarh -
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.~ Every convergent sequence in real number
| IS @.vverernns sequence.
,(A) Taylor's

g (B)  Young's

(C)  Maclaurin's

;/(D)/ Cauchy's

2. Theseries Y,

T s
i+l
(A) Convergent
(B) Divergent

9/ Oscillatory

(D) None of these

3. If Yu, be a series of positive terms and
lim N —=I then Tu, is convergent
n+l
if:
A 1<l B =1
L= 11 O 121
4, If >u, be a series of positive terms and

lim 1" — ], then Tu, is divergent
if:
A 1< B 1<
L 1>1 @  r=1
5 The series Z(Hl]u is :

n
(A)— Convergent
(B) Divergent
(C) Oscillatory
(D) None of these

1404-01-D/615 (3)

gofl......... ot Bt B
A T
B|) G
€ A=A
©0)  @eh
Y ":/:l ....... Bl
A aREr
(B) 3TN
€ afm
0) & & P T

A Lo, gD G B TH AN B T

lim <=1 3, & T, Srerd 3,
e :

A 1<1 B =1
© > O 21

IR Tu, 96 W& B AR & w@
lim 1 — g 2u, ST BRI,

n—o

i

A 1<l B I<1
C I>1 O  1=1
o z[uﬂ' ..... Y
B I
(B)  IYENl
C) aifew
0) W q @& T8
[P.T.O.]



10.

1404-01-D/615

The eccentricity of the ellipse

P dy? =12 08

QI ®
|
© 0)

P is a variable point on the ellipse

Ny ,
—rte =1 with
¢ ,‘v

Then, the maximum value of the area of
tnangle (p .+ is

A" as the major axis.

(A) ab
(B) 2ab
(© *2 ab

-

D) None of these
The radius of the circle passing through the

A 3 ) NG
C 6 }D)” 4
The equation,

ax® + 2hxy + by’ +2gx + 2f+c=0
for ab— 1 <o represents :

(A) acircle (B) a parabola
©) an elipse y}/a hyperbola

The locus of the point of intersection of

§+§=k and (—‘I—";=% iS..... kIS a
variable.

(A) acircle
(C) an ellipse

(B) a parabola
(D) a hyperbola

6.

10.

(4)

dMFT 347 4 4y =12 @ I ...
enfl

' Ll
A ® 3
l I
© - o 3
tﬂ}ijeﬁ] L :‘_': =1 9T p UH T[Y
o’ b
g 2w g AigE @ A o
el H‘{PT APt H HETWH HM...L.
el
(A) ab
(B) 2ab
(C) —,I;uh

0) 7 A HE T
wqamr%a(o,s)%@aagﬁ

éﬁ?{ﬁﬁ -?ﬂ B AT & o 2

39 o9 @ B2

A 3 ® 243
© 6 0 4
R,

ax® + 2y + by? +2 e +2f+c=0

e

SR ab-i? <0 FERT & S w8y

(A) g B) TamH

(C) dga (D) SRawy
Iy l_lz_

(I+b / Q?I a %mhg
E%BT %fgtm TF...... ‘Eﬁ"ﬁ, kT&h X
|

(A) Id (B) Waw

€ ga 0) SRR



1.

12,

13.

14,

1404-01-D/615

The lines, whose direction cosines are  11.
I,,m,n, and h,m,.n, respectively are
inclined at 45° to each other, then ;

(A) Il +mm, +mn, =0

3
(B) L +mymy +nn, = _7_

“

I
© L +mmy +nny = —

oy

|
D) LI +mmy, +nn, = E

The shortest distance between the lines

12,
x-2 y+l =z-3
R
x-1_y-2 z-2
2 1 3
A o
® 1

2
-

1

V29

If @, B,y bethe angles which aline makes ~ 13.

with the axes, then

sin @ +sin* f+sin’y =

A 1
® 2
© 3
(1)

The angle between the lines whose direction  14.

cosines are given by the equations,
l+m+n=0;+m>-n*=0,is:

A - a5 B 60

© 90 O 1200

(35)

IR Yad, R Ry dead B
I/I’)‘”i«m qa. [2.111:.172 a, Qa.' Qﬂ‘;’—g’(ﬂ%fﬂ'
450 & BT 9T A B, al ¢
(A) L, +nm, +nn, =0
¥3

2

1
(C) L+ mm, +mn, = —\E

B) Ly +mym, +nn, =

1
(D) L, +mm, +nn, = 5

x-2 y+l_z-3

TEmen g

) 729
A @, STl /B @, 4,y T
g,

sin’ @ +sin® B+sin’y =

A 1
® 2
© 3
© 4

gt e, R Ry ated
IR l+m+n=0;F+m*-n*=0

& E F, % S @ ... B

A 45 B  60°

© 90° (0) ' 120°
[P.T.é.]



15.

16.

17,

18.

19.

1404-01-D/615

If & be the angle through which the axes
be turned about the origin so that

3.1:2+2.1‘_v+3_1,'2 may become an
expression independent of x), then

A 300 B a5

© o (T

The eccentricity of an equilateral hyperbola
is : '
NN ®

€ 2 © 3

The number of values of ¢ such that

V=4x+c touches the ellipse

-

x‘+ 2 is
4 J) .

A o @B

b!‘(BV 5 (D)  None of these

Ifaline makes equal angles with the coordinate
axes then its direction cosines are

[e—
—
[—

| 1
O FEE
A first degree equation in x,y and -

represents :
(A)  astraight line

(B) astraight line parallel to the X -axis

/(C)n a plane
(D) none of these

15.

16.

17

19.

(6)

M o ;oo B 4 W R g
UiXa: gg g gHIEAT A 'ﬁa
34 2xp 43y Xy UG 8 T o
B ST ...

A) 300 B) 45

© 6o N (%) B
i

RN LE
© - @ 3
¢ & wEl & ge.... 8 Te |

y=4x+c, Eﬁd’q’ﬂ -xzz--f-}’z—':! EﬁTFﬁ?ﬁ
=l

A o B
© 2 © %FHI®E T

A T e onet § T BT g B
o 3E R g &

)

I 1 1
NGNS



20.

21.

22.

23.

Ifthe points (—1.2.4).(2.-1,3).(-2.3,5)
and (1.A.—4) are coplanar then
A=
(CYRR: B
© o O

. -\'”'-}‘_A“_}_‘Llwz—} ]
The lines 3 ST an
r—-l y-2_z-2,
] -3 Intersect at :
@ (L-L1)
(B) (-1.1,=1)

(C) (2,2,-2)

(D) None of these

The equation of the line,
2x-3y—-2z:+1=0=3x-06y-2z+2

in the symmetrical form is :

A X__ 3_2
6 2 3
x=-1_y-2 z-3

®) 2 3 6
1__y__,'_’

© 3777

(D) None of these
a by ¢z x n 2
The lines —=—= :
/ m n | m n
X _y z

— =——=— are coplanar if :
al bm cn P

(A) (a-b)(b-c)(c—a)=0

(a-b) (b—c)(c-a)=0
(€) (a+b) (b+c) (c+a)
None of these

3

1404-01-D/615

(7)

20.

21.

22,

afd fbg (-1,2,4),(2,-1,3),(-2.3,5) o
(1,A,-4) wveaeta & @ g -

A ® -
(C) 0 D) |
.. -2 _y+l_z-3 .
Leng g o= O
ol Y22 22 ey
TR g
Fredt §
@ (L-11)
B  (=1L-1)
©  (2,2,-2)
0 W Q wg Tl
T T,
2x-3y-2z+1=0=3x-6y—-2z+2
H TIG @q T T ... BRI
1

W  x.l3_=

6 2 3
5 x—=1 y—-2 2z-3
) 2 3 6
© 35%¢

Yard i’li“.:Q_E XY Z o
m n' |l m n
== T A, R
(A (a—b)(b—c)(c—aj=0
B  (a=b)(b-c)(c-a)=0
(C) (a+b)(b+c)(c+a)=3
0) FHd P T
[PT.0.]



24,

25.

26.

28.

29.

1404-01-D/615

(sin 0+ i cos 0)" =...
,(19()/ c0s82n0 —isin2n0
(B) Sin 2n0 + i cos 2n0
(C) (=1)" (cos 200 + isin 2n0)
O (=1)"(cos2n0 -isin 2n6)
(1+iv3) w-i3) =
A —128
B 128
© —256
O 256
I+vV2+i
£ .
A -2 | 2
L (0
It (a+ib)(c+id)=A+iB, then
A+ B =
(A) ac+bd
(B) ac—bd
C (a“+b2)(cz+d2)
D) ((12+c2)(b2+c/ )
If x, = cosikﬂ'sini‘ then x, x, x;.....
upto w = ......
BT -
B o
€
(D) None of these
The sum of the roots of the equation ¥ =
is : |
(A) —1
(B) 0
Jder 1
(D) None of these

(8)

S~

24,

25.

26.

27.

28.

29;

(sin @ + icos 0)" =.....
(A) cos2n0 —isin 210
(B) sin 2nf + icos 2né

(®) (—l)”(cos 2n6 + isin 2m9)

O  (~1)"(cos2n@~isin2nd)

(1+13) +(1-iv3) =

A -128

B) 128

©  -256

O 256

1+\/§+i]4= .

l+2-i) 7

A -2 B 2
© @  _q

Ny e IR TH <
A -

B o

@

0 T & B &

A -

B o

©

0 T q B 78



o 0 SR (s <
30, The sequence {s,} where s, = (\I +——] 30. \s,] Tl s, = [1 +
’ n

IS :

(A)  Convergent
AB) Divergent

() Oscillatory

) None of these
31, Thenumber @ is:
(AY  Rational
| (B) Fraction
(€ Irrational
D) None of these

32 If {s,} and {r,} be sequences such that ~ 32.

lims, =1 lim¢, =m then

l

—. /%0
(A) m

/

—, ¢0
(B) - m
(C) 2120

[

E,m;fO

/

] 1Y
33. hm(1+ J= ......
e n+l

(A) e
B 1

1
©) -
e
® o

1404-01-D/615

31.

33.

(9)

1
2l
A SIER
(B)  3mard
C  afm
©0) & A FE Tl
& n Th......... & Bl
(A o
| =
)  oTRAg
©) T G PR T

afg A {5, wd {r,} @ e &

lims, =/ limz, =m Gl

11m(‘—"] .
[H

—,0#0
| ol
B -]—m:t()
® .m0
©  Tl=0

(A) e
B 1
1
©) .
® o

[P.T.0.]



34,

35.

36.

37.

38.

1404-01-D/615

lim ——l— : 3.

o el

(A) is equal to 0
(B) Is equal to 1
(C) is equal to ¢

(D) does not exist

I 7 and ¢ be two real-valued continuous ~ 35.

functions such that S+gand /- ¢ are
differentiable, then -

(A) J and g both are differentiable
(B) /s differentiable but g is not
(C) g is differentiable byt / is not

D) neither f nor ¢ is differentiable

It f(x)=e¢" and g(x)=inx then 36
(go/)'(x)=....

A 0 B 1

\9) e O) l+e

If a function £ is continuous in [a,6] and 37,

f(a)and £(b) have opposite signs then
there is at least one value of x < Ja, 8] for
which £(x) equals :

A fla) B  f()
© o0 O 1

If the circles x? 4 32 4 px+3y-5=0 38

and x*+ p* +Sx+ py+7=0 cut each
other orthogonally, then p = ......

A) 1 B 2

D)

!
© 3

(10)

Iix *
l—e

() 0% FUE B

B) 1@ FwE ®

€ o ®aETE

O)  oftae T B

IRy ud g @ awalE qad G §
W up & f+g W f—g T
A & ar

A f I g A TR B
B) s STaHIT BRT AT g
© g STEFHE BN ARG ;A
O WA RTE g HaFIT

BRT

DI flx)=e @ g(x)=nx & @

(
(

A) 0 (B) 1

C e (D) l+e
AR ;& T R la,6] % Hag &
W fla) AT £(b) & i ool & @y
X € la,b] @ TH-H-BH TH q R

SRl W) flx)=...... B
®  fla) B 1)
© o 0 1

RN x2+}’z+px+3y—-5=() Tq

.\‘2+_y2+5.\'+py+7=0 W—{H’} za'
T B A p=

YR B 2

.
© 5 (D)



n O
30, If U= I()g“ (an(—4- + 5-‘) , then : 39 qﬁ u= lOgc tan(%+ %] a’ a
[ %)= tan2 |
(A) tan 11(2) = tani (A) tan h(-zi)ztan-e—
2 2
(B) tan h(ﬂ = tan @ “
E - (B) tan h 5 =tand
© tan i = tan 0 (C). tan hu=tan®
0
(D) tan hu = tﬂﬂi (D) tan hu = tan%
1 | |
40. |- —t————=t+..0= l l l
. 0= 40, J-——t———tu = e
33 33 73 33753 73 7
T
G >
A —_—
2 (A 2
® ®
J3
© 55 © 55
g 2+/3
O 35 =
W3 37
41. Ifo<x<i,then
x_l' M. T o<x<l, @
T X
X — et —— .0 = & x'
4 3 ------ _+' —_—— —— T —_—
5 2 -3 + s ® =......
tan”| 242 '
A (4 2 @ tn ‘(Lf]
4 2

1404-01-D/615 ‘ : ' [P
(11) | "[P.T.O.]



42.

43.

44,

45

46.

1404-01-D/615

If the radical axis of two circles cuts the liné
joining their centres at an angle 0, then

(A 30° Yy~ 45

C  60° /ﬁ) 90°

The focus of the parabola y* = 4(y - x)
is

@ L2 E 02
© (22) O (32

If the normal to the parabola y* = 4ax at
the point (ar2 ,Zat) cuts the parabola again
at (aT?,2aT) then : . |

A 128

(B) Tel —oo,—S[U]S,OO[

©  -—2<r<2

O  7*<38

If y=2x-3 is tangent to the parabola

I
=4p| x—— -
P[ 3) then, p=.....

(A) l
B
14
© 3
14
O -3

If the circle x*+y*+24x=0,1¢R
touches the parabola y? =4y, externally

then .

_(A) A>0
B A<o0
©. Ais1

(D) None of these

42.

43.

44,

45.

46,

(125

o & o @ YA I, T IR
Wq@’{@zﬁzﬁmo qR e 8, A

@  (-12)
© (22 © (32
IR AT y? = dax B @G (ar’ 2at)
‘HEEIG?WT{W@T\TT (aTz,ZaT)
U< FHredr &, o ¢

A T2:28

(B) Te]-on,—8[U]8,f

€ -2<71<2

) T? <8

2 1
AR y=2x-3, W™ V-’ =4p(x—§J
qT msﬁ gf, m‘ ]): _____

(A) l

(B) -1

o 4

©) 3
14

D) BEY

AT 22437 +24x=0, 1 e R TE

y=d4x B IRIAT: el @v,
ar e

A A>0
B  i<o
C©  1s1
O T | P T



47 i ’ 47.
= -1 Y itan” S—
et 1+2x° . I+ 6x°
il d 7]
tan | |2x2
then S =.......
(A) tan ' x
|
(B) tﬂn'!(—) :
/ 2x
(©) tan"(l]
X
D) None of these
3n _
48, e —3| <g, ¥Ynzm yjlholdforany ~ 48.
n+
positive integer m > .....
AL
oz
g 2
B
o 150
© =
D 225
o S
V The limit of a convérgent sequence : 49.

))/ is unique

(8) is not unique
(€ does not exist

(D) none of these

1404-01-D/615 (13)

.......

(C) tan™ (l)
%

) = ¥ @B T
3n
n+5\/r_1—3 <g, Vnzm g fodl
D TMH m> ... $ €
15
w =
75
® =
15
(C) _
22
(D) =2

o e A G B S

B ot

|) AT

€ oiaa & &
O T q BE T

[P.T.0.]



50.

o1.

52.

3.

1404-01-D/615

G4 b _¢o
JA')/ a, b, ¢

The number of planes through the line of
intersection of two non-parallel planes is

(A) l

2
© 4
D) infinite

If the origin lies in the acute angle between ~ 51.

the planes ax+by+cz+d =0

and a,x+b,y+c,z+d, =0 and

P=aa,+bb, +cc, then:
}AT P>0

B P<o0

©  pr=o

D) None of these

If the planes a,x+by+cz+d =0 and 52

hxX+by+e,z+d, =0 are parallel,
then .

B . .(i * .li L'
(B) a b, ¢
4. 5. 4
© @, 0, a,
0 a _¢ _d,

a, ¢, I

If a plane passes through the points
(1,-2,4),(3,-4,5) and is parallel to the
x-axis, then its equation is :

A y=2z
B  2y=:
€  yrz=6
(D) y+2z=

(14

50.

93.

TR Tt o) Afesa T § P
I Tt @ g ... B

A

® 2

€ 4

© o=

g @ ax+by+ez+d =0 TF
ax+by+e,z+d,=0 & T B
% fig qa fyeg ferd 8 o
P=aa,+bb, +cc, B, ar

A P>0

B  PrP<0

© Pr=0

0O T § B T

A 9d ax+by+¢z+d =0 UF

ax+by+c,z+d, =0 GATTAT B

G _b_¢
(A a, b ¢
4.,b a
(B) a, b, o
G _b _d
© L7574,
a_a _d
0) a, ¢, d,

e T G g (1,-2,4),(3,-4,5)
A TR & @ x-3 & TR B, @

A THIEL. ... 2y
(A) y=2z

(B) 2y=z

() y+z=6

O  y+2z=6



54 The sequence 1s, | where,

~" convergent

).
(B) not convergent
(C) not defined

(D) none of these

— |
55.  The series 2"”-_,; is

(A) Divergent
AB)” Convergent
(C)  Oscillatory

(D) None of these
56. The function

f(x)= xsin l, Y#0
x

=0 =0
is
(A) continuous everywhere
(B) continuous only at x =0

Ao

(D) nowhere continuous

. 1. 1
57. lim | —sin—| -
(YN X X '

not continuous at y = (

A s w
B) s
O s 0

D) does not exist

58. A function s is defined as f(x)=l||,

then :

(A) s is continous at x =0
(B) f is differentiable at x =0
Ly~ both (A) and (B)

(0)  none of these

1404-01-D/615

54.

85;

56.

57.

58.

(15)

’ﬁ"h {s" } 'Fﬁ"f

®)  armard @
©)  uftafua @
O) T A A A

’?{"ﬁ an—z‘ ....... %I
A e

(B)  AfTa

€  alferd

0) =T A HE T
LK

)
B) aﬂax:()q-{ﬂﬁﬁ%
)

0) el A Taa T B

B 1%
© o3
O  oriaa &t &

@ B £, f(x)= || Err o B,

© & () IR E)

[P.T.O.]



59,

60.

61.

62.

64.

1404-01-D/615

n.‘ n-l n(\ B 59
—_—— — + —_— + - .
24 2468 2.4.6.8.10.12
(A) - (B) 0
|
(€ = (D) l
sing 1349 60.
If 0 1350 then o=....
approximately.
| .
(A) E radian
B ! i
(B) 2 radian

(C) 0.01 radian
()] None of these

I log(o+iB)= 4+ i then A= 61.

(A) Ing(u: + B")
B  loglyaTip?)

Vﬂog(al +p%)

D) log(a +B)?

If Ae"°+Be"'°=5c059—7sinB then 62

AB = ...,
A 25 B) 49
€ 37 O 185
. 63. -
(A) g
(B) PCIRIER
(C) e(4n+!)n/2
| @/ None of these
sin hix = ..., 64.
(A) sin ix
(B) —sin jx

(C) isin ix
D)

—isin ix

(16 )

o a LN
24 2468 24681012
(A) - (B) 0
|
(C) 5 D) l
sin‘() 1349
U= e, 0=
af 0 1350’
GuET
1
(A) e E{EeE]
1
(B) 2 EEDE
© 001 e
O 7 A B 7

A log(o+iB) = A+iB B A 4=
(A) l()g(az +B2)

B loglya’p7)
9) 2 log(oc2 + [32)
D) log(a + B)2

I Ae’°+Be“’°=5cosB—7sin9 E?f;
W 4B =

------

.......

A 25 B 49
) 37 (D) 18.5
I =,

(A) e "t

(B) e—(-imj)mz

(C) plansi)nr2

O ¥ q B &

sin hx = ...,

(A) sin ix

(B) —sin ix

isin ix

9
(D) —isin ix



(1234
65 /72 4 1 3)

2 4 13
g (1 3 5 1) betwo permutations of

v = {1.2,3.4} then:

(A) degree of f =1

(B) degree of ¢ =1
MG =

(D) none of these

66. In the group S, of all permutations on

h "2 3
{123}, the inverse of | ;5 | is:

12 3
A 1123
12
® i3 2
1 2 3
=13 21
D) None of these
67. In symmetric group S,, the total number of
subgroups is : -
A 1
B 2
© 3
P8

68.  Given G=1{l-1,i—i} and 'x' is the

usual multiplication symbol, then (G, X)

(A) a cyclic group generated by 1,1
(B) a cyclic group generated by 1,—;
a cyclic group generated by i,—i
(O)  agroup but not a cyclic group

1404-01-D/615

66.

67.

68.

¢ 12D

A f WU =
B) g @ oUW =
©) f=g
O T g P T
(1,23} W of FEeEl B W S, W
1 23
3 9 Jamagam ..... Bl
12 3
*) 12
(12
(B) U3 2
12 3)
©) 3 2 1
0) T § PS8

Ra B, G={-Li~i} W@ 'y G
TH & Frefd St g, @ (G,X)-...
B ,.
A 1,-1 & ST T e T
B)  1,~i BN WG TH T TIE

€  i—i & G O THT T
0) T THE BN QAT Th TR

e B
[P.T.0.]



69.

70.

1.

1404-01-D/615

Consider the following regions, o
A {(T.,l')‘.‘ R :x* 432 s land x+ 5 2}
B - {(.\',_1-)( R x? o< land x ys 2}
C= {(T-.l')t R :x? Y > land xo ye 2}
D= {(-\'.J')r R* x4 32 = land x4 v 3:
which one of the following pair of regions is
convex ? |
(A) A B
(B) B.C
©) C.B
(0) D, A
For x, >0 and x, 20 where 70.
Y+, 25,4y, Y s15,4x, -k, <15
uwfmbwmgsmmmemSamgwgy
Statement | - 3x, + 2x, has no finite
maximum,
Statement |y - 3x, +2x, has no finite
minimum,
Then :
(A) Both I and 11 are trye
(B) Neither I nor 17 s trye
€ Only L'is true
D) Only Il is true
~Let @ and B be two positive real 71,
numbers. If the number of solutions of the
LPP,
Maximize, Z = qx+ By
subject to, 3x+ 4y>17
X+y<20
x20,y>0
for maximum 7 be infinite, then
A a=3p=4
B a=4,p=3
€ a=3p=5
0) a=p=2
(18)

3:,\'1+.l'2>_‘|"{?i,\'+'1..:2,

2 2 2 qd v »
(' .(7\'”\')( Ro:x" 4 ) 2|Q1.\+) 23

|
(

B={(x,y)e R :x*+ 1 <lud xy —
/
|

D {

st 3 -1 - Gwa g o

(A) A B

(voy)e R X +y  =laqdy Fy<2)

(B) e
(C) ., D
(D) A

X 20U x>0 S

Yih Xy 25,4x —x, <15, 4x, -x, <15

% [ fet oy R ¥

DA | ¢ 3xl+2.\'255f2a§qﬁmﬁq3ﬂ'q
qE T

3%, +2x, ® HE yRg

I 1 18 Y
aq :

(A) 1T 1139} g B
(B) LT 115 & o a7t 2
| 9 3

BIT 11

T o, B2 9RafE dem ¥ o

T,

HedH, Z =ax+fy

W F e 3x+4y>7
X+y<20
X20,y>0

%%ﬁaﬁﬁwmawm

(B) a=4,3=3
(C) 0.'.=3,B=5
O  a=p=>



72

73.

74.

1404-01-D/615

I 0
If A=[_] ]J then 4" =...... 72.
where » is a positive integer.
n 0 'n 0
(A) -n n (B) ___] n
0] 1 0]
(@) [_n 0 J 0) 0 _|
If A=[ }a¢aﬁ¢0, then  73.
AL+A=0=>
A aB=2 B ap=Il
€  ap=z0 O  aB=-l
05 0 0
A= 0 4 Olpen o 74,
0 0 I
[0.5 0 0
0 -4 0
(A)
0 0 -1
[0.5 0 0
0 -4 0
(B)
0 0
-2 0 0]
0 025 0
€
— 0 0 -
2 0 0]
{0 -025 0
©)
0o 0 1]
(19)

0

1

& T O IO
n 0 (n O
(A —-n n] ®) -1 n]

(©)

A+A4=0=>
(A) aff =2 (B) af =1
(C) (Iﬂ =0 (D) a’ﬂ =—1
05 0 0
qﬁAz 0 40 ﬁf A"—
o o 1| 77
05 0 0
(A) 0 -4 0
0 0 -
(05 0 0
0 0
-2 0 0]
) 0 025 0
LO 0 ]_
(2 0 0]
0) 0 -025 0
0o 0 1

[P.T.O.]



75,

77.

78.

1404-01-D/615

=
B
” A:: ._] ,B: 2 2 and 75
- - 1
2 .
C=AB then ¢ -
A 0 B
\® ~-C (D) BA
0 1 0
=100 T e 76.

©)
D) None of these

In"the given Linear Programming Problem  77-

(LPP),
Maximize, 7 = 2x, +3x,

subject to, 3y, +x,<3

XXy 20
the maximum value of Z lige
(A) 1 (B) 2
(C) 3 D) 9
In the LPP, 78.

Maximize, 7 = 6x, +10x,
subject to, 3x, +5x, <10
5x)+3x; <15
X,%, 20
the number of solutions for which 7 is
maximum is ;

A 1 B 2
© 3 D) Infinite

(20 )

-1 ﬁ 1 \ﬁ
= 2 D= 2 5 .
R A 1] i. ]2 QEI
g L
2
C=AB B @ ™= .
YR ® c
© -c O B4
01 0
gy 4=0 0 1 'E?BﬁfA+A2+A3
1 0 0
B AR S
A
B
€ 3
0) & 4 5 7
4 & e st e (L)
e, Z =2x, +3x,
o & I, 3x, 4 x, <3
XX, 20
q 7 @ ofteem wm...LL Y
A B) 2
€ 3 @ 9
T4,
Al Z =6x, +10x,
T & e, 3x, +5x, <10
Sx, +3x, <15
X1,X, 20
q @ # geq a3 fae z
AT A.... 2y
A 1 ® 2
© 3 D)  oFw



2 3

Iy 2 B 1 :
79. lf./:(?_ 300 a"d"‘"[zx 3
two permutations on S ={1.2,3} then
Jog =......
1 2 3)
A 23
12 3
® 131 2
12 3)
O~ s 2
12 3
O 152

1 0 0 1
80. If A= 0 1 ,B= 10 and  80.

sin@

. [ cos 8
o=
cosd

—-sind@

------

(A)  Acos@-Bsind
(B) Asin@+ Bcosf
© Asin@— Bcosé
O)  Acos@+Bsind

s 4], 12
81. Ifl (1 T 3thenX:

-3 -10
w7

L
® |51

(1 3]
© 12
. [3 -14
O |4 —-17]

1404-01-D/615

-------

] be three matrices,

81.

(21)

forr=.,....
1 2
(A) | 2
1 2 3
(B) 31 2
1 2 3
© 1 3 2)
I 2 3
O 132
PR R
aE A=y PP o o) W
cos@ sinf
C= e
[—sin& cos@} i gT’ i
G=
(A) Acos@—Bsin8
(B) Asin@+ Bcos O
C Asin0— Bcos@

)
(D) Acos@+ Bsinf

5 4 | 2
Zﬂ%L 1}(:{1 3]F?fX= .......

(-3 -10
(A) | 4 13}

1 -2]
(B) 3]

o
© 2

(3 -14
O 4 —17]

[P.T.0.]



R L SR R
82. FAcD and g < D, then =
[ (D- Bllup=.
A 4o B  4nB
© 4 O B
83. A4 and B are two finite sets having m  83.
and  »n elements respectively, then
the number of distinct relations from 4 to B
is
(A) m+n /(B)/ mn
(C) ‘ Qum (D) mn
84. If a set 4 contains eight elements then  84.
the number of non-empty subsets of 4
is
w7 256 ®) 255
© 128 O 127
85. 4 and B are two sets having five common 85,
elements. The number of elements common
to 4xp and gy 4 is:
G B s
© 25 O 32
86. If n be the number of elements in a set X, 86
then the number of elements in the power
set P(x)is:
(A) o B 2y
}Q‘)/ o ©  n
87. lfA:{_\':x2+6x~7=O}and 87.
B={x:x'+9x+14=0)
then 4— B = .
@  {-7)
/(Ef i)
© {7
O  {.2-7)
1404-01-D/615 (22)

A 4uB B  4np
©) 4 (D) B
gig ATG B ar yRiw “HE A g ﬁmﬁ

S1agal G FAA: m G?F{ni?rfﬁ‘,;
A 5 ¥ R B ST TR R

Hedi &t der..... 2
A m+n B mn
©  om O g

I T T 4 F oS SEug &
4%@?{%@—@3&@ ......
B |

A 25 B 25
C 128 @ 1z
A4 SR B 2 ey ¥ BE O o
TS Y 44 p W@ py 4 § P

STl e, Bt
A 0 | B) 5
C 25 O 32

I T Ty H odi @ wen
" @rﬁ%ﬂ%&mﬂgaq P(x) &

SIERCIIE I ) S i

A g B oy
© 2" D) n
D4 Az{x:x2 +6x—-7=0}®

B:{x:.\‘2+9x+l4=0}

WM g-po
A {1,-7)
® {1

© {7




88.

89.

90.

N.

92.

1404-01-D/615

Which of the following sets is convex
having infinite number of extreme points ?

B o)+ x? =10

B  {x.x )il o <16}
,(Q)/ '{(.\',V\[. ):x} + X7 < l()}
(D) {(.\',..\'. Jix] + x> l(\}

If .4 and p be two convex sets in
then.......Is always a convex set.
(A) AuB
(B) Au B’
A7 ans
D) None of these
Simplex is a j-dimensional convex

polyhedron having......... vertices.
M n

(8) n+1

\® n-—1

O n’

Which of the following is standard form of a
LPP ?
(A)  Max. Z=CX,
st.AY <b,X 20
B)  Min. Z=Cx,
St AX 2bX 20
C)  Max. Z=CX,
st. AX =b5,X20
O)  Min. Z=CX,
st. AX=bX20
Which of the following is true in a LPP ?
A Min Z=-Max(-Z)
B)  Min Z=-Max(Z)
C)  Min Z=Max(-Z)
D) None of these

88.

89.:

90.

1.

92.

(23)

. ; N
Fretfofaa § @ agey 309 6
Rt gt = fomg @ 7

(A) {(.\‘,,.x,): x! +x3 = I()}

B)  {x.x,):x2 422 <16
©) {(-"|~~“; ): /";) t \; < l()}
©) jl(-\'n-“;)l\',! l /\: - l()}

g 4 @ g, g ©, A IUT AYEA
&, ... q%d e aeE en
A ausB

(B) AB

C  anB

) & A wE T

Rroel us p-farii S qehclh %:
e .ot 2 2

A n ‘

(B) n+l

\®) n—1

@

=1 # -1 T L9, W AED B9
g7
A AR Z =X,

I & ST AX <b,X 20
B) IH Z=CX,

Tl ® ST AX > b, X >0
€ o Z =CX,

T B SMET AX =6, X 20
O) =T Z =X,

ST & S AX =b, X >0
HINE § i ?
(A) Min Z =-Max(-Z)

B) Min Z =—Max(2)

(
€  Min Z=Max(-2)
(

D) & q Pk T

[P.T.0]



' 3 2
302 A= }@Eh/laa_’//‘= ......
9B A= l:] 4} then A(adjd)= ..o 9, " [1 4 ( ) .
- 10 0
10 0
® Hﬂ- Ao m}
010 [0 10
(©) 10 0 (B) 100
) 10 1] ' 10 1]
© 10| © L1 o)
. T 107 1 10]
O o o] O | 1)
5 0 2 1 0 0 5 0 2 100
A= = _ T —
94, A= 01 0h g I=]0 1 0] g ggd=|0 1 0 |g/=|0 10
-4 0 -] 0 0 I -4 0 -1 0 0 1
hen rank of (4-7)=...... B (4-1) # Be....... 8
A 0 A 0
‘ ® ®
| G 2 © 2
‘ D) 3 D) 3

95. If A= @b a#z0,b=0
by @*0 are real 95 3Ry A=

numbers and A7 = 42" 1 is a positive

a b
|:b _a],a¢0,b¢0 GIESIEE]
de ¥ ud M=A4"m U 9995

integer, then s =
M=o T8, & ar=
' b.,m _a-m (A) b!m Zmi‘
—d
a1 0 '
B aZm_I_b-m
( ) ( )|:0 1} (B) (02F): +blm)[10 O]
[

m m ] 0
© (a"+b )[O 1]
2 2”’] 0
o (a+5) [O }

1404-01-D/615 (24)




%. If 4 isa nxn matrix such that |A| # 0, then 9.

adj (adjd) =.......
(A) A" 4
B |44
© |44

(D) None of these

97. Ifd= [a,,l”x” suchthat @, =1V ;, j:then o

rank 4=
A 0
® 1
(C) m

)
98. Which of the following matrix is Hermitian ? 9.

0 i
@ ;o
[0 i
B 1= o
i 0
@)7 0 i
i 0
O
-1 -1 a
99, A= I 0 b e, 4 existsif 99
0o I ¢
and only if :
A a=b=c

)
© a=b=c#0

D) a+b+c#0

1404-01.D/615

(25)

AR T nxn I B, T4 FAE
|4 %0, A adj(adjd)=......

@ |44
| |44
€ |A|’H~A .
0) T A DY Tl
af A=[aq,] 3@ wERX & B
(I,/=1Vi,j dd 4 EﬁT q’ﬁ% ......
=l
A 0
B 1
(@) m
® =n
Ry arergt & Si-a onege e § 7
(0 i
(A) K 0
[0
) -1 0
(i 0
© 0
i 0
O 1o
-1 -1 a
qﬁ A4=\1 0 b a’ E‘h A_] e
0 1 ¢
SR a"T[, I AR et IR :
(A) a=b=c

B)  a=b=c=0
€  a=b=cz0
D) a+b+c#0

[PT.0.]



100.

101.

102.
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IR = {(x.) : vy are integers such that
x—y is divisible by 5)
then R is :
(A) not a relation
(B) a relation which is not symmetric
(C) a- relation which is not transitive
) an equivalence relation
T A=1{1234} and B={a,p,c} be two

sets and R R, R, and R, be relahons
from 4 to p given as -

R ={L.a).(1,6).(2,a (3M@b»
R, = {(1,a).(2.0),(3,5).(4.¢)
R, ={(1,b).2 ,h).(s,h),m.c)}

R, = {(r,u).(z.h),(3,c)}

Then a mapping from 4 to B is defined
by :

(A) R, and R,
(B) R,and R,

&7 R, and R,
D) R, and R,
Observe the following statement -

A relation p is defined in real numbers
by xRy =3x+4y=5 and (i) ORI
el 2030 3
(ii) IRE (iii) ERE (iv) SR r

of these statements........ are correct.
w/ (ii) and (ii)

(B) (i) and (ii)

(C) (iii) and (iv)
(D) (i) and (iv)

100.

101.

102.

(26)

gfd R = {(x,): .\'.J'E[Uﬁiﬁ 8l Th TR fh

5@ x—y fmiora E?f}

ar R U

(A)  HEw TE B

B)  wdy B W @AM T &
©  ddy ¥ o G T R
D) g@ﬁnfﬁfﬂ%

o 4={234) @ B={abc}
ey 8 ud R.R,, R, AR, 4 W
p § day & e,

= {1.a) (1.0)(2,0), (3.6, (4.0)

R
R, ={{L.a).( -a)-(3-f>)~(4-c)}
R
R

(A) R, T R
B R TIR
€ R g,

ﬁtfafrvﬁqraﬁa‘sﬁ%ﬁ
mmawaﬂqﬂaa R 9 TR

RIEE B XRy = 3y + 4y =35 Q'EI

() OR1 (i) IR R 3‘

) f ()

(i)
ESICA0C It S e

(iv) %R-

19| —

(B) (i) ud i
® ()T i)
© iy (v
O G gy



103, If f:= >z bedefined by, 103,
f(N)= pytgy where poang g are
integers, then fof s an id(rnlitym;lp if and
only if :

(A) p=l
(B) q=0
C) p=lq=-I
((D)- p=tlg=0

104 I f(v)=2v+1and o(v)= x4 2, then 104

(o) (W) =.....

(A) 34

By &

(C) 81

(D) None of these

105 If g(x)=c" and fog isanidentity function ~ 105.
then _f‘(.\'): ......

A 0 B x
© e’ /(9)/ In x
106.  Following sets with operation . are defined 106.
as
(i) S = {1,2,3,6.1 8};0 xh=abya,be S
(ii) S = {I,—2,3,2,—4};a * = lbl;a,h cS
(iii) S = 7 (the setof all integers);
atb=a+b>;abes

(iv) s=N (the set of all natural
numbers),
axb=a-byabes
then s is a binary operation
on: .

A 0 @

() o ()

107.  Inagroup G;a,b e G then (a"b)'I =i - 107.
(A) ab™ }5) b™a
©  a'p (0) I

1404-01-D/615 (27)

= - '
Z=r Z,

a7l

afx o/ f(x)=px+qy
#d

qfeafaa @ 5@ p 307 g ic?
fof T AR (identity) AT 2, At
af7 e die

(A p=l

(B) =0

(C) p=1lq=-1

D) p=+l,g=0

ufe f(x)= '

i (gof)(4)=n
N
@ 8
© 8

O) O A FE T
A g(x)=c T fog TE AEHAE

(identity) @ B a1 f(x)=....
@ 0 (8) x
€ e” (D) Inx

B

g

0) S={23618)a*b=ababes

(ii) S=1{,-232-4%a+b=|plabeS

i) s=z (@ g @ age);
axb=a+b*;a,be S

vy s=n (@0 uFEa dend @
Hﬂaq); a*b=a-bya,beS

IR g o - e L e P
Bl
A 0 | (i)
© (i) O ()
T HE 6% a,beG A (o) =
(A) ab™ (B) b™'a
©) a’'b™ (D) b~'a™
[PT.0.]
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108.

109.

110.

1404-01-D/615

In a2 LPP the decision variables can b
take.......... values
(A)  anyreal
(B)  only integer
Y any non-negative real
©) only non-negative integer
In the given LPP 109.
Maximize, 7 = 3x, +2x,
subject to, 2x, +x,<2
3y, +4x, 212
X,y 20
The LPP has :
(A) No feasible solution
(B) Unique feasible solution
(o) Infinite feasible solution
D) None of these
The equations +2x,+x,=3 and 110
2x,+x,+5x,=9  has  solutions
X, =35,x,=~Lx, =0. These solutions
are
(A) basic and feasible
(B) non-basic but feasible
(®) basic but degenerate
D) basic and non-degenerate
For the convex set, .
= {(x,y):‘xl < l,!y! < l},
the number of extreme points is :
(A) 1
(B) 2
(C) 4
9/ Infinite
(28)

€)  STHIeEh andiaD
(D)  STRMID ‘3”1’@
d g oA,
i,

ot & e, 2x, +x, <2

3x' + 4X2 212

Z =3x, + 2x,

xl,x220
39 0.9,
(R P @A e T S
|) ey A & 8
€) o 9T & &

O T Y P

GHIHTOT X +2x,+x,=3 UTF
2%, +x,+5%,=9 & &A &
X =5x=-Lx,=0,3 &d........
2l -

(A) A T

B) Afs T ¥ @ Ay

€ A ¥ w Rrafeg

O A ¥« srafteg

I Y=,

S={z): <y <)

A Rigelt A wer... 2,

A) 1

B 2

© 4

O =



112.  If (G.*) be an abelian group, where % s

12
defined as arxb=axp10;
Ya.b.c € G, then the identity element of
G is:

A o |
M3, I 4=Pninez)and p= Pninez) M3
be the subgroups of (Z,+) then......... is a
subgroup.
A (4UB.+)
B (4 B+)
(@) (AU B, )
© (4B,
114.  If () be a group in which « is defined 114,
as, m*n=m+n+l; Vm,nezthen
5 ¢ z has aninverse :
(C -6 © -7
115.  In an abelian group, order of elements «  115.
and p are 4 and 3 respectively, then
(ab)l4 =), v
B ar ® (@)
© @ b
116 Inagroup (G*), ae G then the number 415,
of such ' satisfying a*a=a is
w/ 1 . (B) 2
© 3 (0)  infinite
1404-01-D/615 (29)

AR (Gx) b ST e & 9l « &4
qep R
Va.b.ce G @ G @ THAD (identity)

a*h =+ h+ H),

©  -10 © 10

Rl A:{3n:neZ}Qd

B={ninez) (Z+) & ITAE el
A (4uB+)
B) (4" B.+)
€  (AuUB.)

©) (4NB,)

AR (2,+) TF T & NEH « 3 TN
gfvenrfora @t

m*n=m+n+l,

Vm,nezﬁfsez @ FgohH...... 2
A 5 ® -5
©) -6 D) =7

U Ed §YE W Egdl o T
p W HE HAT 4T§ 3, @

A &t B (ab)”

C© & ® b

W@ T (G*) H qeG @ axa=a
Eﬁgngqﬁ 'a' E!%H@T.E?Fﬁl

A 1 | 2
© 3 (3)
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118.

119.

1404-01-D/615

e
®)

Given Q) ={1,2,34,5,6,7.8}, .
A={1234} and B={2457)

then 4 LB =,
113.5,6,7.8

11,5.6,7.8)

© {13,678

O {13578

If P(S) be the power set of S, then for  118.
sets 4 and B :

(A) P(4uB)=P(4)up(B)
(B) PLAVB)=P(A)~P(B)
)g:) P(AmB):P(A)mP(B)
D) P(AmB)=P(A)uP(B)
Given 4= {u.b,c,d,c,j'.g} and 119.
() 4 ={ab.c}, 4 ={e.d}, 4,={f,g)
(i) 4 =1a.b}, A ={b,c.d},A,={d e, f}
(i) A, ={a b}, A ={b.c.e}.A ={f z}
(iv) 4 ={u,b}, A, = {c,e,f}, A4 = {d,b}
then.............. gives a partition of 4.
A )
B (i
(C) (iii)
/(D)/ (v)
Let / [—_zn_g} = [-11] ang 120.

f(x)=sinx then £ is:

(/A)/ oné to one onto

(B) one to one but not onto
(C)  many to one onto
(D) many to one but not onto

R d o {1,2,3,4.5,6,7.8},
A={234) @ p={2457}
T ACUB =

W {1356,7.8)

B {15678}

© {13678

O {1,3578)

(A P(4uB)=r(4)uP(B)
B  P(4uB)=p(4)nP(B)
©  P(AnB)=P(4)nP(B)
©  P(4nB)=P(4)uP(B)

B E A={a,b,c.de, f,g)} T

0 4 ={a,b,c},A3={c,d},A3={f,g}

i) 4 ={a,b}, 4, ={b,c,d}, 4, ={d,e, f}
i) 4 ={ab}, 4, ={b.c.c}, 4,={7,g)

(iv) 4 = {u,b}, A, ={c,c,f}, A, ={d,b}

(
(

W A B e Frefg 3 AL
(A )

B (i

C) i)

G (v

(A)
B AT W e a5
€ B R




